Algebra 1 Name ID: 4
Ch 7 Practice Test - Algebra Methods (2024) Date Period

ALL QUESTIONS ARE 10pts. Read instructions! Recommend checking for partial credit.

Solve each system by substitution. Checking recommended - show last step.
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Solve each system by elimination. Checking recommended - show last step.
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Solve the system using either the substitution or elimination method.

Checking recommended - show last step.
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Solve the system using either the substitution or elimination method.
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WPs: Solve the system using either the substitution or elimination method.

12) Scott's school is selling tickets to a choral performance. On the first day of ticket sales the school
sold 3 senior citizen tickets and 4 child tickets for a total of $80. The school took in $104 on the
second day by selling 6 senior citizen tickets and 4child tickets. What is the price each ach of one
senior citizen ticket and one child ticket?
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13) The county fair is a popular field trip destination. This year the senior class at High School A
and the senior class at High School B both planned trips there. The senior class at High School A
rented and filled 6 vans and 6 buses with 258 students. High School B rented and filled 12 vans
and 14 buses with 586 students. Every van had the same number of students in it as did the
buses. Find the number of students in each van and in each bus.
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